

<b>Company</b>	Integrated Information Systems Pte. Ltd.
<b>Digital Solution Name &amp; Version Number<sup>1</sup></b>	SAP Business One Version 10 - 2 Starter Users
<b>Appointment Start Date</b>	26 September 2024

wef. 09 October 2025

**Standard Packaged Solution (ie. Minimum items to be purchased)**

Cost Item	Unit Cost (\$)	Unit	Quantity	Subtotal (\$)	Qualifying Cost * (\$)
1) Software SAP Starter Licence Modules including Accounting and Banking, Business Partner Management, Sales Management, Purchase Management, Inventory Management, Reports, InvoiceNow addon	\$ 1,915.00	per license	2.00	\$ 3,830.00	
MSSQL Database License	\$ 300.00	per license	2.00	\$ 600.00	
2) Hardware Not Applicable					
3) Professional Services Scoping and Documentation	\$ 600.00	per manday	1.00	\$ 600.00	
System setup and configuration inclusive of general settings, chart of accounts, creation and editing of 5 standard layouts	\$ 600.00	per manday	2.00	\$ 1,200.00	
Master Data Migration for item, customer and supplier	\$ 600.00	per manday	1.00	\$ 600.00	
UAT and Go Live Support	\$ 600.00	per manday	1.00	\$ 600.00	
4) Training Training for accounting, banking, business partner management, sales management, purchase management and inventory management	\$ 600.00	per manday	2.00	\$ 1,200.00	
5) Others Not Applicable					
			<b>Total</b>	<b>\$ 8,630.00</b>	<b>\$ 8,408.00</b>

<sup>1</sup> A higher upgrade of the software version is acceptable, for example solution version 3.x allow anything from 3.0 to 3.99999

\* Qualifying cost refers to the supportable cost to be co-funded under the grant

<b>Company</b>	Integrated Information Systems Pte. Ltd.
<b>Digital Solution Name &amp; Version Number<sup>1</sup></b>	SAP Business One Version 10 - 3 Starter Users
<b>Appointment Start Date</b>	26 September 2024

wef. 09 October 2025

**Standard Packaged Solution (ie. Minimum items to be purchased)**

Cost Item	Unit Cost (\$)	Unit	Quantity	Subtotal (\$)	Qualifying Cost * (\$)
1) Software SAP Starter License for 3 users Modules including Accounting and Banking, Business Partner Management, Sales Management, Purchase Management, Inventory Management, Reports, InvoiceNow addon	\$ 1,915.00	per license	3.00	\$ 5,745.00	
MSSQL Database License	\$ 300.00	per license	3.00	\$ 900.00	
2) Hardware Not Applicable					
3) Professional Services Scoping and Documentation	\$ 600.00	per manday	1.00	\$ 600.00	
System setup and configuration inclusive of general settings, chart of accounts, creation and editing of 5 layouts	\$ 600.00	per manday	2.00	\$ 1,200.00	
Master Data Migration for item, customer and supplier	\$ 600.00	per manday	1.00	\$ 600.00	
UAT and Go Live Support	\$ 600.00	per manday	1.00	\$ 600.00	
4) Training Training for accounting, banking, business partner management, sales management, purchase management and inventory management	\$ 600.00	per manday	2.00	\$ 1,200.00	
5) Others Not Applicable					
<b>Total</b>					\$ 10,845.00
					\$ 10,512.00

<sup>1</sup> A higher upgrade of the software version is acceptable, for example solution version 3.x allow anything from 3.0 to 3.99999

\* Qualifying cost refers to the supportable cost to be co-funded under the grant

<b>Company</b>	Integrated Information Systems Pte. Ltd.
<b>Digital Solution Name &amp; Version Number<sup>1</sup></b>	SAP Business One Version 10 - 5 Starter Users
<b>Appointment Start Date</b>	26 September 2024

wef. 09 October 2025

**Standard Packaged Solution (ie. Minimum items to be purchased)**

Cost Item	Unit Cost (\$)	Unit	Quantity	Subtotal (\$)	Qualifying Cost * (\$)
1) Software SAP Starter License for 5 users Modules including Accounting and Banking, Business Partner Management, Sales Management, Purchase Management, Inventory Management, Reports, InvoiceNow addon	\$ 1,915.00	per license	5.00	\$ 9,575.00	
MSSQL Database License	\$ 300.00	per license	5.00	\$ 1,500.00	
2) Hardware Not Applicable					
3) Professional Services Scoping and Documentation	\$ 600.00	per manday	1.00	\$ 600.00	
System setup and configuration inclusive of general settings, chart of accounts, creation and editing of 5 layouts	\$ 600.00	per manday	2.00	\$ 1,200.00	
Master Data Migration for item, customer and supplier	\$ 600.00	per manday	1.00	\$ 600.00	
UAT and Go Live Support	\$ 600.00	per manday	1.00	\$ 600.00	
4) Training Training for accounting, banking, business partner management, sales management, purchase management and inventory management	\$ 600.00	per manday	2.00	\$ 1,200.00	
5) Others Not Applicable					
			<b>Total</b>	\$ 15,275.00	\$ 14,200.00

<sup>1</sup> A higher upgrade of the software version is acceptable, for example solution version 3.x allow anything from 3.0 to 3.99999

\* Qualifying cost refers to the supportable cost to be co-funded under the grant

<b>Company</b>	Integrated Information Systems Pte. Ltd.
<b>Digital Solution Name &amp; Version Number<sup>1</sup></b>	SAP Business One Version 10 - 3 Professional Users
<b>Appointment Start Date</b>	26 September 2024

wef. 09 October 2025

**Standard Packaged Solution (ie. Minimum items to be purchased)**

Cost Item	Unit Cost (\$)	Unit	Quantity	Subtotal (\$)	Qualifying Cost * (\$)
1) Software SAP Professional License for 3 users Modules including Accounting and Banking, Business Partner Management, Sales Management, Purchase Management, Inventory Management, Reports, InvoiceNow addon	\$ 4,320.00	per license	3.00	\$ 12,960.00	
MSSQL Database License	\$ 300.00	per license	3.00	\$ 900.00	
2) Hardware Not Applicable					
3) Professional Services Scoping and Documentation	\$ 600.00	per manday	1.00	\$ 600.00	
System setup and configuration inclusive of general settings, chart of accounts, creation and editing of 5 layouts	\$ 600.00	per manday	2.00	\$ 1,200.00	
Master Data Migration for item, customer and supplier	\$ 600.00	per manday	1.00	\$ 600.00	
UAT and Go Live Support	\$ 600.00	per manday	1.00	\$ 600.00	
4) Training Training for accounting, banking, business partner management, sales management, purchase management and inventory management	\$ 600.00	per manday	2.00	\$ 1,200.00	
5) Others Not Applicable					
			<b>Total</b>	\$ 18,060.00	\$ 14,200.00

<sup>1</sup> A higher upgrade of the software version is acceptable, for example solution version 3.x allow anything from 3.0 to 3.99999

\* Qualifying cost refers to the supportable cost to be co-funded under the grant

<b>Company</b>	Integrated Information Systems Pte. Ltd.
<b>Digital Solution Name &amp; Version Number<sup>1</sup></b>	SAP Business One Version 10 - 5 Professional Users
<b>Appointment Start Date</b>	26 September 2024

wef. 09 October 2025

**Standard Packaged Solution (ie. Minimum items to be purchased)**

Cost Item	Unit Cost (\$)	Unit	Quantity	Subtotal (\$)	Qualifying Cost * (\$)
1) Software SAP Professional License for 5 users Modules including Accounting and Banking, Business Partner Management, Sales Management, Purchase Management, Inventory Management, Reports, InvoiceNow addon	\$ 4,320.00	per license	5.00	\$ 21,600.00	
MSSQL Database License	\$ 300.00	per license	5.00	\$ 1,500.00	
2) Hardware Not Applicable					
3) Professional Services Scoping and Documentation	\$ 600.00	per manday	1.00	\$ 600.00	
System setup and configuration inclusive of general settings, chart of accounts, creation and editing of 5 standard layouts	\$ 600.00	per manday	2.00	\$ 1,200.00	
Master Data Migration for item, customer and supplier	\$ 600.00	per manday	1.00	\$ 600.00	
UAT and Go Live Support	\$ 600.00	per manday	1.00	\$ 600.00	
4) Training Training for accounting, banking, business partner management, sales management, purchase management and inventory management	\$ 600.00	per manday	2.00	\$ 1,200.00	
5) Others Not Applicable					
			<b>Total</b>	\$ 27,300.00	\$ 14,200.00

<sup>1</sup> A higher upgrade of the software version is acceptable, for example solution version 3.x allow anything from 3.0 to 3.99999

\* Qualifying cost refers to the supportable cost to be co-funded under the grant